
 
Year 4 Home Learning wb 28.09.20-Green if you find this tricky, orange if you’re not sure and red if you 
would like a challenge. 
LI:  To use adjusting strategies for subtraction calculations. 

• After, use the inverse calculation to check your answers: 35-11=24 24+11=35 
 

25 - 10 = 
25 - 11 = 

 
46 - 20 = 
46 - 21 = 

 
52 - 20 = 
52 - 19 = 

 
34 - 10 = 
34 - 9 = 

 
150 - 100 = 
150 - 101 = 

 
72 - 30 =  
72 - 31 = 

 
66 - 20 = 
66 - 19 = 

 
130 - 100 = 
130 - 101 = 

 
70 - 30 = 
70 - 29 = 

 
67 - 20 = 
67 - 19 = 

 
203 - 100 = 
203 - 101 = 

 
85 - 30 = 
85 - 29 = 

 

47 - 30 = 
47 - 31 = 

 
74 - 50 = 
74 - 49 = 

 
354 - 200 = 
354 - 201 = 

 
64 - 20 = 
64 - 19 = 

 
107 - 50 = 
107 - 52 = 

 
847 - 100 =  
847 - 98 =  

 
603 - 50 = 
603 - 52 = 

 
778 - 200 = 
778 - 199 = 

 
97 - 60 = 
97 - 62 = 

 
198 - 100 =  
198 - 98 = 

 
874 - 500 = 
874 - 504 = 

 
87 - 20 = 
87 - 21 = 

 

237 - 30 = 
237 - 31 = 

 
714 - 50 = 
714 - 51 = 

 
954 - 700 = 
954 - 699 = 

 
604 - 200 = 
604 - 190 = 

 
545 - 70 = 
545 - 71 = 

 
897 - 100 =  
897 - 103 =  

 
603 - 30 = 
603 - 28 = 

 
468 - 200 = 
468 - 201 = 

 
797 - 500 = 
797 - 499 = 

 
3008 - 1000 =  
3008 - 999 = 

 
454 - 50 = 
454 - 52 = 

 
704 - 200 = 
704 - 197 = 

 


